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QUESTIONS

1/ Answer the following questions according to the text : (6pts)

a- How many paragraphs are there in the text ?
L}

Secaltalttd.. g s ofs S...C..g.\....afm.((j ..... émdj ..... Qonsh... ez, .. san L
Q\gcww& ..... AL L{».LJ ... .<.~% At inal.. %/(,"8»@(,/3 A’
¢- What do financial markets facilitate ? o ,( (,‘

CoodfEf palirn ’i&&a&%k TRV IV Lol tcce
@;{,44\:@4\!2/»\3 " ﬁ Dow PA,LQEQ ..... .ani&m@k@%\g rﬁl& t&M VJQ{.A@E\,\@Q

d- In which tense the verbs of the
T\‘u—?\\asx,-&v)a“\w»%*dx\ﬁm(ﬁ‘jv\%&t{\é{ T O Srw;v\ \3"(’1 ‘) (entnt .
2/ Find in the text words closest in meaning to the following : (4pts)

a) equities =%i;&.&‘»\ @ b) prices=...¢.c.9$@...~... @
¢) corporates = "qum& @ d) goods —....(,Wa‘{(@l @

3/ Translate the following terms into English :6(pts)

il
- text are conjugated ? 41

C\ SN AN L. .. el
@ TDhovadaic Lo, il
@ ------------ B-LWGLA ....... I'—’-"M‘

4/ Translate the last paragraph into Arabic. (dpts)

) W\\.(\cwju* @l 3/! gr*" \5 ‘5) (}‘/O AT \/ z » Jamé .c?a*l \lé e \ ...... .i.**)v("’
\j,~\ @) éﬂy/'\.&j.hm‘..x_a ....... it N \,.M *{;\.‘,:‘..)...ad W\t}(} Kreelo e, z@

. Jo )5@...%,&1..\...;@.}..{@ wta ...... e} 2otk @k ) GOOD LUCK
- c“)«lg_,i\@ W/J\ PN ¥ \)u\
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Second Term English Exam
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TEXT

A financial market is a market in which people and entities can trade
financial securities, commodities, and other fungible items of value at low transaction
costs and at prices that reflect supply and demand. Securities include stocks and bonds,
and commodities include precious metals or agricultural goods.

There are both general markets (where many commodities are traded) and
specialized markets (where only one commodity is traded). Markets work by placing
many interested buyers and sellers, including households, firms, and government

" n £,

agencies, in one "place", thus making it ezsier for them to find each other. An economiy
which relies primarlly interactions between buyers and sellers to allocate resources is

knowr as a market economy in contrast either to a command econ iomy or to a non-market
economy.

In finance, financial markets facilitate the raising of capital (in the capital
markets), price discovery, the transfer of liquidity (in the money markets) and the
International trade (in the currency markets), and are used to match those who want
capital to those who have it.
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UNIVERSITY OF BATNA
DEPARTEMENT OF ECONOMY
FIRST YEAR MASTER AUDIT G1+3

LECTURER/M.YOUSFI KENZA

CORRECTION OF THE EXAM
a) Comprehension
o 1.b
y 2a)T b) T o) F d)T
9 -3.(81)
§2 4.a)investment code b) frame work |

% _5.a)it’s to diversify and modernize the economy
' b) it's the principle of freedom to invest in any and all activities .

¢) they are open to privatization

b) Texte exploration

,&Ll. a) seeking ’ b) provides
3 2
IE= o
I MES [ suffiees
Exindirectly i _odirect Ty
~ investment | - invest Ment
| e lESE ) e

mcquarlriityrw * In ~ Equal

+ —
EQWat
increased = | increase [ R -
/1&3. A) what has been in effect since 2001 ?

b)what have important steps been taken for

L[ 4. d-b—-a-c.
/
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